EARAROBEEIERT — 2 N— IBISH —F

2013512838 (&) 19@EE1H

m C2 ¥5%3m®L (xwlw | mEmml - |5 8) 0w 8
[AE£] 1% :250,000 ™ ~ 2%&:45,000”  37%&:22,500 W  43%&:12,500 53 :7,500 0
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— o 4 3 | HEMNE 1:53.6 2-2-2-1 [39.7| — 2 450 | FFHEE (EB)
118/9|T771¥3~> 57.0 (=) 6 | W) Fux—Ts—nK
RAFAd—IVK B:I7Y7LF RENS
S oo H s 3 | JIRE— 1:53.8 9-9-6-5 [38.9| — 4 475 | E2BF (ER)
2|5|5|¥ALTT 1Y 54.0 (1 1/4) (+19) | EEEAT
x> ThHANAN B:xabw>Ugy RGNS
LIS N o3 | ENEE 1:53.9 6-6-4-3 |39.4| — 5 493 | KEIER (FEl)
s 4| Ky Kyv 1 * 56.0 (7¥) 4y | AVNEEE
YL KYTYRIR BILALH—I BHIT7— I
v K - 4 3 | TRE 1:54.1 3-3-3-4 |40.0| — 7 492 | BABUA (FEH)
4 1|y k&4 T7=2 56.0 (1 1/2) 2) s tER
RHATAT v — BARY—RISL—F J—H Ty — L
S o4 | KBKEE 1:54.4 5-5-5-6 |39.9| — 6 471 | EBAE (EB)
5 N 2 F—=XITTI 0 @ (1) (#) #—2%3
RihT7A=2T BrIWXY 1 XN— J=YrTrp—L
s # 3 | BHFE 1:54.4 1-1-1-2 | 40.7 | — 1 428 | FHEA (ER)
6N 3| ¥ y T — L 54.0 (74%) (o) | EAED
L:VZRE4—-3IZ25%— B:ex A &
N RAFIH . —7-8— — =BT (TR
1 - BEEZEE ALY o4 N 1.(5'55>.2 8-7-8-8 | 40.3 3 (5:26) umgﬂﬁ
L:FTrAT7 B:T4TaT7)vh A gz
3 4 | NEEF 1:55.3 4-4-7-7 | 40.8| — 9 430 | BEEFIERX (EH)
8l7/8 T7A4T7Ly Y it 0 (1/2) (-4) #H) F—ILYPAZR MBS
R:ALT747 B:wLP175 I1— NETHIS
“ # 3 | FEEL 1:55.9 7-8-9-9 |40.8| — 8 497 | HEB (FEh)
9/8/10 J—ILAXAT b 56.0 (31/2) 1) HER
L:T7NhtEy b B RTFATT F]sbaed
o REFR — = — - - — | LAl (BH
7| 7| ZRF=22IUT R ) . O |Exm
LTITRAFS LI B:N—hKY—72 IS 455
® 1—F—@EBIERL
1T=7r= 3,9,1,8,2,4,10,6,5
2a=5F= 3,9,1,8,2,4,6,10,5
Ja=5= 3,9,1,4,2,5,8,6,10
43—+ — 9,3,4,1,5,2,8,6,10
[ N5
B 9 270M 714K 5-9 420 e E 5-8 710M JEE 4-5-9 6,510
B B 9 140M 4-9 870M B = 5-9 740 JEE 9-5-4 15,320M
5 170M 4-5 1,160M B H 9-5 1,700/
4 230M

ABICOVWTRDTEEERROODE. TR LIV,




